[image: image1.png]1 A spring is suspended from a fixed point. A mass attached to the spring is set into vertical undamped
simple harmonic motion. When the mass is at its lowest position, which one of the following has its
minimum value?

the potential energy of the system
the kinetic energy of the mass
the acceleration of the mass

the tension in the spring
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2 The time period of a simple pendulum is doubled when the length of the pendulum is increased by 3.0 m.
What is the original length of the pendulum?

A 1.0m
B 1.5m
(o} 3.0m
D 6.0m




[image: image2.png]7 The Earth has density p and radius R. The gravitational field strength at the surface is g. What is the
gravitational field strength at the surface of a planet of density 2p and radius 2R?

A g
B 2g
(o} 4g
D l6g

8 A particle of mass m moves in a circle of radius r at uniform speed, taking time 7 for each revolution.
What is the kinetic energy of the particle?
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[image: image3.png]9 Two protons, each of mass m and charge e, are a distance d apart. Which one of the following expressions

correctly gives the ratio [ Electrostatic force | oy the forces acting between them?
gravitational force

4ne e’
A
Gm®
Ge®
B ane, 2
c ’m?
4me,G
el
D

4ne Gm’




[image: image4.png]10 The graph shows how the gravitational potential, 7, varies with the distance, r, from the centre of the
Earth.
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[image: image5.png]What does the gradient of the graph at any point represent?

the magnitude of the gravitational field strength at that point
the magnitude of the gravitational constant

the mass of the Earth

the potential energy at the point where the gradient is measured
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[image: image6.png]+4uc —16uC
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The diagram shows two charges, +4UC and —16 uC, 120 mm apart. What is the distance from the +4 uC
charge to the point between the two charges, where the resultant electric potential is zero?

A 24mm
B 40 mm
(o} 80 mm
D 96 mm




[image: image7.png]12 An electron travelling at constant speed enters a uniform electric field at right angles to the field. While
the electron is in the field it accelerates in a direction which is

in the same direction as the electric field.

in the opposite direction to the electric field.

in the same direction as the motion of the electron.

in the opposite direction to the motion of the electron.

[SNoN-"IFY




[image: image8.png]13 A 1000 uF capacitor and a 10 uF capacitor are charged so that the potential difference across each of them
is the same. The charge stored in the 1000 uF capacitor is Q, and the charge stored in the 10 uF capacitor

is Os.

What is the ratio g ?
0,

A 100

B 10

C

D




[image: image9.png]following graphs, A to D, best represents how the magnitude, , of the induced emf varies in this same

15 The magnetic flux, @, through a coil varies with time, 1, as shown by the first graph. Which one of the
period of time?





